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  ا�"�� ا�%���� $#وم ا��"��ر

  )�+�ط 7(: �ل ا��
ر�ن ا'ول

� ا����ر ا
�ر��� �ن ��ل ��د�د ���دة ا
�رار ا
�� �ن ��
	� ��م ر�ض  .1��ؤ#ر �"�وى ا
� �و�� �

.ذ
ك ��دد 
�� ا����ل ا
و�وع �� ا
�ط) �ن ا
�وع ا*ول وا
�ط) �ن  أو ��ول ا
�ر��� ا
&�ر��،

���#
 ) �+ط� 01(. ا
�وع ا

2.  ��� 
� ا3��راف ا
� ��ري، .��� .�ن �0م ا�� د�� ا
��د�ر �ن ��ل ا
�)#�ر ��� ��� 
�ؤ#ر �0م ا

 )��+ط 01(. .��ر .��� ا���ت ���� ا3��راف ا
� ��ري وزادت د�� ا
��د�ر وا
 .س &��4


د��� .3 :0.33=αب"�� ،: 

1-α/2= 1- 0.33/2= 0.835 

� 0دول ا
�وز�> ا����3
� �0د أن

ر0وع إ��: z = 0.97 )1.5 ط�+�(   


د��� �0�� � �د
��ن .4 : 

m- 1.96 σm = 0.8191 …… 1 

m+ 1.96 σm = 0.8289 ……2  

  )�+ط� m= 1.648/2 = 0.824  )1.5 :�0د 2و  �0�1> 

  )�+ط� σm= 0.0025 )01 :�� ا�دى ا
� �د
��ن �0د ��m و�ض ���� 


� σm = σ/√n: �د�����
  )�+ط� n= 0.0353  σ= σm x)01√      و��

  

  )�+�ط9(: �ل ا��
ر�ن ا�%���


�"�� ا*I��ص ا
ذ�ن 3 ����ون ا
"��رات ا*
����� ھو �"�� ھؤ3ء  .1 ���� �
��و"ط �وز�> ا
  : ا*I��ص أي

E(p’)= (45+30)/ 150 = 0.5 ( �+ط� 01 ) 

= 	�. = ’σ²p (��ط�	��)	����
	′
′

�
= 	

�.�
�.�

���
 



2. �����
 p=0.5 , q=0.5  :ا����ل ا��0د I�ص وا�د ��ط ���ل ا
"��رات ا*

P( x=1) = C5
1 x 0.51 x 0.54= 0.1562 )1.5ط�+�(  

� ا*�ل ����ون "��رات �ن ����ت أ�رى .3� ) �+�ط 02( :ا����ل ا��0د أر�> أI��ص �
p=0.2 , q=0.8 

P(x≥4) = P4 + P5 = C5
4 x 0.24 x 0.81 + C5

5 x 0.25 x 0.80 = 0.0064+0.00032= 0.00672 

4. �����
 p=0.5, q=0.5) �+ط� 1.5( :ا����ل ا��0د I�&�ن 3 ����ن ا
"��رات ا*

P(x=2) = C5
2 x 0.52 x0.53 = 0.3125 

 )�+�طI:  P(p’≥0.3) )02�ص 50أو أ.#ر ����ون ا
"��رات ا*
����� �ن ��ن  %30ا����ل ا��0د  .5

� ا
�وز�> ا
ط�� � �> ا
���م � ���� ا
�&��4 �ن طر�ق طرح
 1/2n=1/100=0.01 ��وم ��
��ر�ب إ

	√ = ’σp:            ا3��راف ا
� ��ري ا
0د�د
	′
′

�
=√	

�.�
�.�

��
 = 0.07 

P(p’≥0.29) = 1 – Q(
�.����.�

�.��
) =	 1- Q(-3) = 0.9987 

  ) �+�ط 04(: �ل ا��
ر�ن ا�%��ث

�م أن ا
و"ط ا
�"��� ھو  P(45.194<m<45.246)=0.9984: �د��� 
 �45.22> ا

=z   :��ث ���z أن ا
�وز�> ط�� � "��"ب ا����3ل �ن طر�ق �"�ب ���� 
����

��
  


� �]ن ����  0.026 = 45.22-45.246و   0.026- =45.22 -45.194���ظ أن  ��
��"�و��   zو��
� ا
طر��ن، أي أن ا
�"��� ا
��&ورة ��ن �� ���
���� ا
�ط��+z و-z  �0.9984"�وي  

 P(z< a) = 0.0016/2=0.0008: ��"ب ���� ا����3ل *�د ا
طر��ن ��ث z^��0د ���� 


���� ا
�ط���، و��_  z= 3.16: �ن ا
0دول �0د أن��:  

��.������.��	

��
= �. ��: ومنه     �� =

�.���	

�.��
 n= 651فنجد أن  σ=0.21و أن  σm = σ/√nمع العلم أن      	

 


